

$3 \cdot 1,1 =$
 $0,2 \cdot 4 =$
 $5 \cdot 0,02 =$
 $0,13 \cdot 3 =$
 $0,9 \cdot 8 =$
 $1,4 \cdot 5 =$
 $6,3 \cdot 3 =$
 $4 \cdot 0,13 =$
 $5 \cdot 0,08 =$
 $0,06 \cdot 6 =$
 $0,4 \cdot 4 =$
 $5,2 \cdot 3 =$
 $4,8 \cdot 5 =$
 $2 \cdot 4,3 =$
 $3 \cdot 0,13 =$
 $0,54 \cdot 5 =$
 $0,09 \cdot 4 =$
 $6,3 \cdot 5 =$
 $0,5 \cdot 2 =$
 $2 \cdot 0,04 =$
 $0,2 \cdot 6 =$
 $3 \cdot 0,01 =$
 $0,4 \cdot 9 =$
 $0,4 \cdot 8 =$
 $6 \cdot 0,02 =$
 $0,9 \cdot 3 =$
 $5,4 \cdot 5 =$
 $3,2 \cdot 4 =$
 $9,1 \cdot 6 =$
 $0,3 \cdot 2 =$
 $0,01 \cdot 4 =$
 $3,6 \cdot 4 =$
 $4,8 \cdot 5 =$

$4,2 : 6 =$
 $22,5 : 3 =$
 $0,81 : 9 =$
 $2,16 : 4 =$
 $6,3 : 4 =$
 $13,5 : 5 =$
 $39,24 : 4 =$
 $0,24 : 8 =$
 $5,6 : 4 =$
 $0,12 : 6 =$
 $1,2 : 3 =$
 $0,36 : 9 =$
 $1,8 : 3 =$
 $6,18 : 3 =$
 $24,96 : 4 =$
 $3,8 : 2 =$
 $0,56 : 8 =$
 $44,1 : 3 =$
 $19,62 : 6 =$
 $164,58 : 9 =$
 $25,92 : 8 =$
 $9,12 : 3 =$
 $4,8 : 8 =$
 $0,49 : 4 =$

$5a = m^2$
 $35kg = g$
 $5m^3cm = m$
 $654m = km$
 $\frac{1}{12}h = min$
 $4m^4dm = m$
 $1km^13m = m$
 $12m = km$
 $135kg = t$
 $2g^3kg = kg$
 $215mm = cm$
 $18cm = dm$
 $5cm = m$
 $5m^6cm = cm$
 $\frac{1}{3}h = min$
 $35min + 28min = h \quad min$
 $1m^6mm = m$
 $2t^4kg = kg$
 $2ha = m^2$
 $680m^2 = a$
 $1350m = km$
 $0,2kg = g$
 $18cm^2 = dm^2$
 $25dm = m$
 $18m = cm$
 $380kg = t$
 $\frac{2}{3}hod = min$
 $5,6m = cm$
 $1,2km = m$
 $0,3kg = g$
 $2dm = cm$
 $5,63km = m$
 $443m = km$

$\frac{3}{8} + \frac{5}{8} =$
 $1 - \frac{2}{5} =$
 $\frac{3}{4} + \frac{1}{4} =$
 $1 - \frac{4}{8} =$
 $\frac{5}{9} - \frac{3}{9} =$
 $1 - \frac{5}{11} =$
 $\frac{3}{4} + \frac{1}{4} =$
 $2,3 + 14 =$
 $1,4 + 2,48 =$
 $1,3 - 0,8 =$
 $13 - 2,4 =$
 $23 + 2,54 =$
 $9,1 + 8,42 =$
 $2,58 + 3,42 =$
 $3,14 - 1,8 =$
 $5,1 - 2,23 =$
 $\frac{2}{3} \times 240 =$
 $\frac{5}{8} \times 160 =$
 $\frac{1}{6} \times 96 =$
 $\frac{4}{3} \times 120 =$
 $\frac{5}{2} \times 400 =$
 $\frac{4}{6} \times 360 =$
 $\frac{6}{7} \times 168 =$
 $\frac{3}{4} \times 12 =$
 $\frac{5}{9} \times 81 =$
 $\frac{6}{7} \times 210 =$
 $1 - \frac{1}{6} =$
 $1 - \frac{5}{8} =$
 $\frac{4}{9} - \frac{2}{9} =$
 $\frac{9}{4} - \frac{3}{4} =$
 $\frac{5}{6} + \frac{1}{6} =$
 $\frac{4}{11} + \frac{2}{11} =$
 $\frac{9}{12} - \frac{4}{12} =$